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1. Aliisn’t as tall as Sami.
Sami is taller than Ali.
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2. English isn’t as difficult as Physics.
Physics is more difficult than English.
English is less difficult than Physics.
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\3. Ali is taller than Sami. ‘ Sami isn't as tall as Ali.
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4. Qais graduated from university a year earlier than Sami.
Sami didn’t graduate from university as early as Qais.
Sami graduated from university a year later than Qais.
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5. Zain is more intelligent than Qais.
Qais is less intelligent than Zain.
KQais is not as intelligent as Zain.
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6. Physics is less interesting than English.
English is more interesting than Physics.
thsics is not as interesting as English. /
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7. Neither English nor Physics is as difficult as Chemistry.
Chemistry is more difficult than English and Physics.
__| English and Physics are less difficult than Chemistry.
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English and Physics are not as difficult as Chemistry
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8. The easiest question in the exam was the last question.
The least difficult question in the exam was the last question.
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9. There's less information on the website than there is in the book.
There isn't as much information on the website as (there is) in the book.
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10. Ali didn’t finish his job as early as Sami.
Sami finished his job earlier than Ali.
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